1. What kind of angle (acute , obtuse , right) is made by the hands of these

clocks. Also write the time.

Angle[ ] Angle [ ] Angle
Time |:| Time I:l Time
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1. Kaxkoii (ocTpslii, TyIO#t, IPAMOIL) YIOJI 0OpasyIoT CTPEIKU STUX YacOB(KOTAa

OHM IIOKa3bIBAIOT BpeMs). TakiKe HaIIMIINTE BPeMs YacOB.

1. busyhuh” whlynih ka (ump, poip, mnhn) juqunud
dudwgnygubph uywpubpp: Gpbp twb nyjuy dudp:

Angle
Time

Angle
Time

How much parts of the following pictures are coloured, express it by fraction :

(a) (b) (c)

(d) (e)



2. Kakas yacTp KapTUHBI 3aKpaureHa’. Bripasure B Buze mpodu.

2. Znlywy Gqupibkph n'p dwub b gniunpiws, wpunwhwpnkp
ynunnpulh wnkupny:

2 8 3 4 1
w) Py 9, n; b

3 Work out the volume of each shape below being careful to use the correct units:

Volume = cm cubes
3 em { '
Voluime = cm cubes
15em
4cm / /4 .
cm
Volume = cim cubes

3. Omnpepenute 00b€M IaHHON KaXZo# Qurypst. BanmareapsHO BeIOMpaiiTe

ITpaBUJIBHBIE € TUHUIIBI.

3. Npnokp unnpl tpYws nipupwignip (Ah) dwpdtth swjup qgniy)
tntp &hownn Uhwdnpubkp puwnpkhu(€hon vhwynpbphg oguybihu):



- Swyw 3x8x4=96 U punp.
3 al

Swuw® 3x3x3=27 ud funp.
aud

15 ud

4ud/

’] Ul Suup 4x15x8=480 udl funp.

4. Express in centimetre :
(a) 97 metre 65 centimetre (b) 7 kilometre 473 metre 82 centimetre

(¢) 28 kilometre 693 metre 54 centimetre

4. BsipazuTe B CaHTUMeTpax.
4. Upnwhuwjntp vwtnhdbwnpny:
w)97 U 65 ud=9765 ud

p)7 U 473 U 82 uui=747382 uul
g) 28 YUl 693 U 54 ul =2869354 uul

5. Express in metre :

(a) 971 kilometre (b) 59 kilometre 267 metre

5. Brrpasure B MeTpax.

5.Upwnnwhwynbp dkwnpny:



w) 971 lyu= 971000 u
p) 59 YU 267 U=59267 :

6. Express in kKilometre and metre :

(a) 987654 metre (h) 970635 metre

6. BeIpasuTe B KHMJIOMETpaX U METPax.
6. Upnnwhwjntp Yhindbkwnpny b dknpny:

w) 987654 U= 987 U 654
p) 970635 =970 lyu 635 u:

7 Draw lines of symmetry on the shapes below. Some shapes may have more
than one line of symmetry

f.
7. Hapucyiite ocu cuMMeTpHUHU B JaHHBIX (PUTypax, HEKOTOPbIe (POPMBI MOTYT

MMeTh OOJIblIe YyeM OZHa OChb CMMMETPHUH.

7. Unnpl pipJws qgdwyuwwnlbptbph(Altph ) ypuw gdtp(tnupkp)
hwdwswihnipjut (uhudbwnphwjh) wpwbgpubp: (1pny
gowyuwnltptbp(dtkp) Jupnn G nibukbwy 1-hg wykh
hwdwswihnipjuti(uhdbwnphwh) wpwbgp:



8 Add:

(a) 7304
3417
4098

879

8.IIpu6aBuTs.

8. Anmidwipky:

7304
3417
4098

879

+

15698

x}( Y

>

(b) 5497
3280
6003

2807

5497
+3280
6003
2807
17587

(c) 2417
8150
3704
5863
4279

2417
8150
3704
5863
4279
24413




9. Subtract :

(a) 9415 ) B542

726 3704
9.Brruects.
9. Zwlly:
9415 _B542
726 3704
8689 4838
10. Multply :

(a)347by62
()90S5 by 325

10.YMHOXUTE.

10. Puquuuyunlby:

(c) 83604
TRO9

Ri6c04
T 7809
75795

(b)238by204
(d)420by 160

x |3 |4 |7 x 19 [0
6 |2 3 |2
n 6|9 |4 + 4 |5 |2
2 [0 |8 |2 18 ]1]0
2 [1]5 |1 |4 217 |15
2 19 [4[1 ]2




X 2 3 8 X 4 2 O
2 |0 |4 1|6
9 |5 |2 + 121512 |0
+ 0|0 |0 4 12 10
4 |7 |6 6 |7 12 |0
4 |8 |5 |5 |2
11.Divide and find the quotient
20 + 10 = 434 + 2 =
70 + 10 = 000 + 9 =
760 + 2 = 420 + 4 =
624 + 4 = R

11. [Jenute u HalizuTe YacTHOE.

11. Pudwtbtp b qubkp pwtnpyp:




20+ 10=| » 434 + 2 =| 217
70+10=| ! 999 + 9 = | 111
760 + 2 = | 2g0 420 + 4 = | 105

:3(} +?= 4[]
624 +4 = | 196

12.Fill in the blank spaces by putting the symbol >or < :

(a) 6708 7981 (b) 8012 7992
(c) 96430 96700  (d) 68320 64322
(¢) 74325 74305

12. 3anonHMTe IPOIyCKM IIOCTaBUB < UJIU > 3HAK.

12. Lpwgnpbtp nuunupl quiunuljutpp(nwpwsputpp) nknunplnyg > jud <
towtip:

6708 | < 7981 8012 | > 7992
96430 | < 96700 68320 | > 64322
74325 > 74305



13Write down the following numbers by arranging from smaller to greater :

(a) 5631, 4280, 6023, 8192, 5000
(b) 83650, 72600, 84001, 91321, 69698
(c) 90078, 84006, 80375, 95253, 99999

13. Jauusle uudpsl 3aNUIINTE OT MAJTEHBKOTO L0 OOIBIIOrO(PaCcIIOIOXKITE

YUCIIa B IOPSAJKe BO3PACTAHUA).

13. Zkwnlyuy pytpp gplip thnpphg ks (pYtpp quuwynply wddwb jupgnd)

w)4280, 5000, 5631, 6023, 8192
£)69698,72600,83650,84001,91321

g) 80375,84006,90078,95253,99999:

14. Write down the following numbers by arranging from greater to smaller
(a) 7832, 4390, 8023, 9192, 600
(b) 73750, 82700, 75001, 81234, 96967
(c) 90087, 850085, 80357, 96435, 88888

14. Narmsie mudphl 3aIUIINTE OT GOJIBIIOTO O MAJIEHBKOTO (PaCIIOIoXuTe
YuCya B MOPAAKe YOBIBAaHUA).

14. Ztnlyu pytpp gpbip dbdhg thnpp(pybpp nuuunply ifuquub
Yupgnd)):
11)9192,8023,7832,4390,600

P)96967,82700,81234,75001,73750
g) 96435,90087,88888,85005,80357:



15.Express 12 weeks 7 days in hours.

15. Berpasure 12 Hemenm 7 mHeit B 4acax.

15. Upunnwhuwyntp 12 owpwip 7 opp dudbpny:

12 owipwip 7 op=(12 x 7+7) x 24=2184 d:
16.Express 18 days 15 hours in minutes.

16.Brrpaszute 18 greit 15 yacoB B MUHYTaX.
16.Upunnwhuywntp 18 op 15 dwdp pnwkubpny:
18 on 15 d=(18 x 24+15) x 60= 26820 p:

17. Express 1 day 1 hour 16 minutes in seconds.
17.Berpasute 1 mens 1 gac 16 MUHYT B ceKyHAaX.

17.Upunnuhwjntp 1 op 1 d 16 p Juypljjuutpny:

((24+1) x 60+16) x 60=90960 1:

18. Express 7 weeks 2 days 13 hours in minutes.

18.BrIpasuTte 7 Heflenb 2 gHA 13 yacoB B MUHYTaxX.
18.Upunnwhwjntp 7 owpwp 2 op 13 dudp pnwybkubpny:

((7 x 7+2) x 24+13) x 60=74220 p:



	14. Данные цифры запишите от большого до маленького (расположите числа в порядке убывания).
	ա)9192,8023,7832,4390,600
	բ)96967,82700,81234,75001,73750
	ց) 96435,90087,88888,85005,80357։

